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0O 1. 00000000 (f=10[kHz]O r=2[Q]))

oo 00 V(CH1) 00 V,.(CH2) 00 I[4 | o006
ooog [v) ooo v | ooo [v] oog [v]
R 8.000 2.828 0.3100 0.1096 0.05480 0
L 0.3520 0.1245 0.06225 0.5007
C 0.3520 0.1245 0.06225 —0.5007
R-LOO 0.3280 0.1160 0.05798 0.2887
R-COO 0.2280 0.08061 0.04031 —0.232m
R-LODO | 0.8000 0.2828 0.04620 0.01633 0.008167 | —0.184m
R-COO 0.04700 0.01662 0.008309 | 0.248~
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02 00000000000000 (f=10[kHz]0 r=2[a))

D0 |0000000 Z[e 00 V[V 00 (@00)I[A |00 (@©0) 14 |
R 51 2.828 0.05545 0.05480
L 2nfL 0.06225
C oy 0.06225
RLOO 0.05798
R-COO 0.04031
R-LOO | 0.8000 0.2828 0.008167
R-CODO 0.008309
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030000000

DO |ooo@oo0)|ooo@oo) ]

R 0 0

L /2 0.5007

C /2 0.5007
R-LOO 0.2887
R-COO 0.2327
R-LODO 0.1847
R-COO 0.248~




